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TUB-test chart LE56; Colorimetric systems
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Colours for output linearization: 3 colouR=0O, G-L, B-V
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input:rgb setrgbcolor
output: no change
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-: http://130.149.60.45/~farbmetrik/LE56/LES56LONA.TXT /.PS; start output -_
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), page 1/1
Nigb 90 =>19b%Fain  hrgh  [L* C¥ap. hap, @, D*lyiae [L* C*ap . hap, &%, b*]Fae NFae Chae UFae Urae JFae  OVBMaeit OlV3Ege, it
=0 107410 00 00 300 527 813 255 734 350 52.7 813 255 734 35.0 0.0 1.0 b99r m8lo 10 00 0.189 10 00|
('D m * * * * * * * * * * * * * * -c
g o Nigb 90 =>0WV3pain  higy  [L*) C¥ap s hap, @, D*lyag [L* Cap » hapy &%, b*]Fag NFad CFad UFad drad dFad  '9D%BMad,it rgb%raq,it gofivs)
2.9 107410 00 00 30.0 556 86.2 38.2 67.7 533 55.6 86.2 382 67.7 53.3 0.0 1.0 rl19) m1l00o 10 019 00 10 0.9 (Fpa
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3 8 j=1074 output of the elementary coloue: j=1074 output of the device coloud: 3=
,Q_J.. rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): ()
(=] N
o< rgbt, 1.0 0.0 0.0 1.0 0.0 0.189 1.0 0.0 0.191 olvi, 1.0 0.0 0.0 1.0 0.19 0.0 1.0 0.149 0.078 8 o
25 rgbt, gbit 255 0 0 255 0 48 255 0 49 Vi, git 255 0 0 255 49 0 255 38 20 c =
E.g L*, ¥ Mo 525 90.8 381 527 813 255 543 88.0 286 L*, C¥p, Moy 525 90.8 38.1 55.6 862 38.2 57.4 89.3 402 @R
':E:_r = AE*,, AE* it<in: 212 21.2 3D-it: 8.3 83 AE*,, AE% it<in: 5.6 5.6 3D-in: 6.1 6.1 g 8
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g Nigb 90 =>19b%Eain  hrgy  [L* C¥ap. hap @ D*lyiae [L*, C*ap . hap, &%, B*]Fae NFae CFae UFae Urae dFae  OVBMaeit OlV3Fge,it o
'3 1078 0.0 1.0 0.0 150.0 85.7 63.5 162.2 -60.4 194 85.7 63.5 162.2 -60.4 19.4 0.0 1.0 j99g I77c 0.0 10 0.774 00 1.0 _%781
= ® Nigb 90 =>0WV3pain  hrgy  [L* C¥ap . hap, @, D*lyag [L* Cap » Nap, &%, b*]Fag NFad CFad UFad drad dFad  '9D%BMadiit rgb%raq,it S
" 8 1078 00 1.0 0.0 150.0 86.0 110.8 132.5 -74.7 81.7 86.0 110.8 132.5 -74.7 81.7 0.0 1.0 j57g ylool 0.425 1.0 0.0 0425 1.0 H.(E
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= o, j=1078 output of the elementary coloue: j=1078 output of the device coloud: = -
=50 rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): o X
== rgb%, 00 1.0 00 00 10 0774 00 10 0775  olv, 00 10 00 0425 1.0 0.0 0.206 1.0  0.125 w2
'_c:\_ g rgb, gpit 0 255 0 0 255 197 0 255 198 oV gpit 0 255 0 108 255 0 53 255 32 S %
= L* C*y hap 844 1180 1326 857 635 1622 858 635 1599  L* C% hy 84.4 1180 1326 860 1108 1325 869 1094 131.4 Tw
‘C*,’m AE*,, AE* it-in: 70.2 457 3D-it: 26 55 AE*,, AE% it<in: 7.4 65 3D-in: 93 7.7 3
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% E nrgb rgb - rgb*f%F.al,in hrgb [L*' C*ab’ hab’ ar, b*]Mae [L*1 C*ab’ hab' ax, b*] Fae n*Fae C*Fae u*Fae dFae d*Fae OIV*SMae,it OI\/*3Fae,it
o Ul 107700 00 10 270.0 60.5 57.3 271.7 1.7 -57.2 60.5 57.3 2717 1.7 -57.2 0.0 1.0 bOOr c39v 0.0 0.613 1.0 0.0 0.618 1.0_|
o ,ol Nigb 90 =>0WV4pain  hrgh  [L* C¥ap . hap, @, D*lyad [L* C*ap , Nap, &%, b*]Fag NFad CFad UFad drad dFad  rIP%BMadiit rgb%3Ead,it (e
ao 1077 0.0 00 1.0 270.0 44.2 113.3 304.1 63.5 -93.8 442 113.3 304.1 635 -93.8 0.0 1.0 b28r vOOmM 0.568 0.0 1.0 0.568 0.0/ 1.010
Z
~
p= 5
| T
=
o X =,
3 :' 3 Colours no. 3 Colours no. - 2
Q o j=1077 output of the elementary coloue j=1077 output of the device coloud: o
= %) rgb input (in): linear interpolation (it): 3D interpolation (3D): rgb input (in): linear interpolation (it): 3D interpolation (3D): (@]
~ rgb%-, 0.0 0.0 1.0 0.0 0.613 1.0 0.0 0.613 1.0 olvi, 0.0 0.0 1.0 0.568 0.0 1.0 0.25 0.125 1.0 %
rgbt, guit 0 0 255 0 156 255 0 156 255 olVE, git 0 0 255 145 0 255 64 32 255 I
L*, Chp gy 347 1214 304.2 605 573 2717 61.0 56.3 2729 L*, Chp hyp 347 121.4 304.2 442 113.3 304.1 48.6 111.6 304.7 5
AE%,, AE% it-in: 83.3 583 3D-it: 1.6 4.2 AE*,, NE%, it-in: 125 8.5 3D-in: 17.1  10.8
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